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Riabiers 4195 INTERMEDIATE PART-II (12" CLASS)

1ATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
:ROUP-1 OBJECTIVE MAXIMUM MARKS: 20

{ote: You have four choices for each objective type question as A, B, Cand D. The choice which you
rink is correct, fill thut bubble in front of that question number. Use marker or pen to fill the bubbles.
‘utting or filling two or more bubbles will result in zero mark in that question, Attempt a5 many

uestions as given in objective type question paper a

ud leave others blank. No credit will be awarded in

ase BUBBLES ure not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

3No.l
2
o jExu‘x = (A) 3 (M2 WO (D) 0
1
2
2) J-l--:fa.' = {A) 2énx (R en2  (C) fn(ly (D) #ad
: x
€)) J'sl_* dy = (A) B (B) 2(5%) (C)5¥ s (D) 25 EnS)
(4)  Distance of line x + 2y + 5 = 0 from origin is:- (Al (VS Qs (D)2
(5) Length of perpendicular from ( 1, 1 ) to the line 4x - 3y + 9 = 0 equals:-
(A)2 () ©)3 )9 Q
(6) Eguation of horizontal line through { 2, 3 Jis:- (A y=3 (Byy=2 (C)x= G
(7), , . Slope of vertical line is:- (Y IRY (B) 1 2
IS) - li‘ Ix + 2y 5 6, point does not satisly:- (A) (1.0) (Ba¢o,1y ¢ ’ M(3.2)
l's.':'!, “i Radiob of éircle x? + p7 ~dx -6y =0 i )NS (D) 13

(10) - .Direotrix.of parabola x? = 20y is:-

[Q L Puzabola. x7 = -8y opens:-

(C)y==-5 D)yx=-5

(A) V13
(A) x = 10.\iu.&
e

B 1u‘lujR:ghl-.w,r‘-:is {B) Leftwards (D) Downwards
12y Magnitude of vector 6f + 3 = 2k is:- 6 23 (D)-2
(13) Direction cosines ol V- axis are:-
d L b
(a) 0,01 { 15 (Yo, 1,0 D) —=.—===
00 J3'437 4
(14y If fix)= I -t-,a'.th“&r
{A) Constant i'ur‘:'.:tiu‘( Even function  (C) Odd function (D) Implicit function
(15) (A) 4 {B) 2 (CY & (D) 8
(16} x -:Jcos.‘_ = dsins  represents:- {a)Line  (B)Circle (C) Ellipse (D)) Hyperbola
(I7). I fi{x)=sinx,then f"l%)= {A) O By i (G2 oy -1
!
(18) -é—-(-.:uth x)= (A) —cosech®x (B) cosech’x () wan hlx {D) cothx sechx
X,
« v s %’ X2 X
(19 ;{—‘{e'- Y= (A) & (B) 2¢* (C) 2xe (D) 2
: SIHZA ; e Al ;
(20} I4 — dx = {A)sinx+¢ (B)2sin2x+c  (C) Esmx +¢ (D) Zsinx +c
3 SN .

14O TX TE¥)-201%A)-18000 (MULTAN)



A\

/” :

®
(i)

(iii)
(iv)
)
(vi)
(vii)
(vii)
(ix)

(x)
. ‘{ki] .I. .

(D)
(ii)

ain
(iv)
(v)

(vi)

(vii)

(Vi) *

.!-l. :.(,r:i}d I

.E'\.mlﬁme j

2019 (A)
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: - INTERMEDIATE PART-1I (12" CLASS)

MATHEMATICS PAPER-II

GROUP-1 SUBJECTIVE

NOTE: - Write sunie question number and ity part number on answer buok,
a3 given in the queation paper.

ECTION-I
‘Attempt any cight parts.

—
 Find the domain and range of f(x) = yx* - 4

If f{x)=2x+1, g(x)=x*-1, find gof (x)

. l=cosx
Evaluate Lim =

==~ 0 gin®x
2

- . X
Differentiate — 5 wrl x
X =

If _-.»=x" + 2x% 4 2. then show that %ndx,}y—l
Find-“2 if yz—xy—:2+4=0
dx

kL " I
Differentiate x% — 5 wort x°
: =

&
du

it y=sin2:r. u = sin x, then find

. g iy .
Find — if py = xcos
- ¥ ¥

Find f'(x)=7, if f(x)=in(e* +e7")
Defihe'Critical Value.

State the Maclaurin's Series.
Attempt any cight purts.

Find &y if _v-xz + 2x when x changes frém 2 (o

E’\luhﬁ.ﬂlc"[ ax , x>0
; ,||'r +1 - ;x

Evaluate I 1 —cus2x ox 1= cosdx =0

Evaluate -1>--,==-J‘f dx
Ve o+ x3

Evaluate JT‘L dx
\ at— x*

Evaluyg@® (#x )* ux

2
dr

x* + 2
|

3
Evaluate j- :1'.:

X +9

5 VT ! i)

(i
x)
(xi)
- (xii)

, dy
Solve secx + tany— =0
Ve

TIME ALLOWED: 2.30 Hours
MAXIMUM MARKS: 80

8x1=16

Ex2=16

- : : a3 x
Find the area between the x —axis and the curve =S from x=~7 to x.

'Draw-the gruph and shade solution region for 5x = 4y < 20

Define Optimal Solution.

P.T.O.



" MIN — 12 ~Cn—19

(2)
4, ‘Attempt any nine parts, 9Yx2=18

(i) Find the mid point of the line segment joining the points [ —+5, -% 1 and {— 35, 5 }

{ii} Find "K' so that line joining the points  A(7,3) and B(K, —6) has o slope -]i

(iii}  Find the equation of line passing through the point (-9, 0) and has a slop - 4 .
(ivi  Detine *Homogencous equation” of degree n where "»' is o positive integer.
(v) Find the equation of circle with centre (-3, 5) and radius 7.

(vi)  Find the coordinates of vertex and focus of the parabola = 4(y =1

(vii)  Find the equation of Ellipse having foci (13, 0) and minor axis of length 10.

1 2
{vili)  Find the coordinates of foci and vertices of Hyperbola XT - % =]

(ix} Define “Position Vector” of a point..

(x) Ir']ag+{a+l)i+2£‘=3,thenﬁndva]ueof'a'.

(xi)  Find 'a" so that the vectors 2i + aj + 5k and 3i + j + ak are perpendicular.

(xii) Find gxb if g=2+ -k and b=i-j+k

(xiii) ~Prove that the veclors { -2/ + 3k, -2i+3/j -4k and {-3j+ 5k arceoplanar.

o SECTION-II
NOTE: - Attempt any three questiors. 310 = 30

sind

S.(u}  Prove that limy =1, & is mensured in radians.
=0

(b  Find the extreme values for the function f(x)=(x-2 )2 R~ i)

2 —
6.(a)  Show thit quaz —-xtde= flz—.'i‘r‘n'i£ +%\;‘uz R
a

(6)  The points (4, =2), (-2, 4) and (5, 5) @e the vertices of a triangle. Find in-centre of the triangle.

3
2 I
7. (a)  Evaluate I i = v, x2), !
1
z

(b)  Graph'the feasiblefregion of the following system of linear incqualitics and find the corner points
2x<=3dy=6
2x+ ¥y <12
xz0
yz0
8.(2)  Find an equation of the line through the intersection of the lines x - y ~4 =0 and 7x + y + 20 = 0
and parallel to the line 6x+ y-14=0

(b)  Show that the circles X%+ yz +2x-2y=-7=0and 2 yz - 0x + 4y + 9 = 0 touch externally.

R).j(u} * Find an equation of the parabola having focus at (=3, I } and directrix s x=1J.

(b)  Prove that the line segment joining the mid points of the sides of & quadrilateral taken in order
form a parallelogram.
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